В декартовой системе координат отметьте точки последовательно соединяя их отрезками.

1 вариант

(2;6), (-4;6), (-4;0), (0;0), (0;-3), (-2;-3), (-2;-2), (-4;-2), (-4;-4), (-3;-5), (1;-5), (2;-4), (2;1), (1;2), (-2;2), (-2;4), (2;4), (2;6)
 
2 вариант

(2;5), (8;5), (9;6), (9;3), (8;1), (6;2), (7;1), (1;1), (1;0), (10;-1), (13;0), (14;3), (14;1), (13;-1), (10;-2), (10;-3), (12;-5), (11;-8), (9;-8), (10;-6), (8;-5), (8;-7), (7;-8), (5;-8), (6;-7), (6;-5), (3;-5), (3;-8), (1;-8), (0;-5), (-1;-7), (-3;-8), (-3;3), (-4;3), (-4;-3), (-5;-4), (-7;-4), (-7;4), (-6;6), (-4;6),     (-4;8), (-2;9), (0;9), (2;7), (2;5)



1 вариант

(2;6), (-4;6), (-4;0), (0;0), (0;-3), (-2;-3), (-2;-2), (-4;-2), (-4;-4), (-3;-5), (1;-5), (2;-4), (2;1), (1;2), (-2;2), (-2;4), (2;4), (2;6)
 
2 вариант

(2;5), (8;5), (9;6), (9;3), (8;1), (6;2), (7;1), (1;1), (1;0), (10;-1), (13;0), (14;3), (14;1), (13;-1), (10;-2), (10;-3), (12;-5), (11;-8), (9;-8), (10;-6), (8;-5), (8;-7), (7;-8), (5;-8), (6;-7), (6;-5), (3;-5), (3;-8), (1;-8), (0;-5), (-1;-7), (-3;-8), (-3;3), (-4;3), (-4;-3), (-5;-4), (-7;-4), (-7;4), (-6;6), (-4;6),     (-4;8), (-2;9), (0;9), (2;7), (2;5)


